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Q1 |FRIITKDAZELLY, 54%| 22%| 12% 9% 3%
Q2 |EEFREEOIEERITLTNS, 38% 33% 9% 9% 135%
Q3 |FEDEBOEEHITONTEZ SHEENHD. 33%| 30%| 7% 9% 22%
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Q5 |BORTEOHEDIL—ILIZDNTESEEAH S, 45%| 33%| 8% 9% 10%
Q6 XL BBAHTEREFELITREEITRENTIS, 60%| 25%| 7% 2% 7%
Q7 |EEDFELEXFHEESHYLTL, 23%| 24%| 16%| 3% 3%
Qs |EEFREZEOEANICONTLIERL TN TV S, 43%| 25%| 10%| 2%| 20%
TER29FE FEREEME7r—F({REER) 1 2 3 4 o
— - —— - ) D D ) D
%? ] ZZT:L\T:L\%jllaE\j 3: %35")&.\*)79:[:\ ll_.\bt:#ll\ 5:*)7’3\1979:['\ @ @ @ @ @
No. B R B B LES Lr Lr Urs Urs
Q1 |BFEAIE. FBATDEELAITLTINS, 50%| 35%| 6% 5% 4%
Q2 |BFIAIE. BEASMYDOTTELVEES>TLVS, 22%1 48%| 10% 5% 15%
Q3 |FROEFIEEDOHHIZHETED, 28% 59%| 4% 4% 5%
Q4 |REIL. FEDER OB ELE T OV TEYAIEEETo> TV, 22%1 43%| 10% 5% 20%
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Qs zj&ld:d%?‘c‘f/u( ERERYIZT AL OHEIIL—ILEFREEEZELSELTL 34%| 50% 59 0 9%
Q6 |ZHIE. HEDBRIZ OV TIREDE HELTLNS, 26%! 54% 9% 5% 5%
Q7 |FROEBESBEOERTEICISMLI-CENH B, 63%! 32% 4% 0% 2%
Q8 |2# . BFSADEANIDONTEERELTINS, 39% 47% 5% 4% 5%
Q9 |¥KIE. BEDHKEEHI-HT. BFIADAIEETSHIZBEELTINS, 38%| 46% 8% 2% 5%
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Ql | BROBEEHITOVT ZKBETAENICELE STV, 78% 17% 4% 0% 1%
Q2 |BEEELRITHI-SHEETL. REEDSHEICENLTLD, 63%! 27% 4% 0% 6%
Q3 |COERTIE. AoV IIAIVRERY AN SR - RE - £ I5EET->TLV3, 52%| 34% 5% 0% 9%
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Q4 i]féﬁo%l,\i%i AV EYAERR-BD BEICIEC TERBIRN TESLOEOHM LG 78%1 14% 4% 0% 4%
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Q6 |FRITENGR - RE-E/KICE->THRNAHILDELDES, TR -HEETH>TLS, 71%| 22% 5% 0% 2%
Q7 |BEEHDLERFERICOVNT, HR-RE - 44 RESOHIBADOEMIZBHTIS, 62%| 29% 6% 0% 3%
Q8 |WR-RE-EEOEAVER. BEOFERMOMLIZBHTNS, 85%1 13% 1% 0% 1%
Q8 |41 RE-AEODAELEEL, BEOKEEHET>TLS, 90% 6% 2% 1% 1%
Q0 |BEEBLSE EHI O TENTEIREDBAHD. 49%| 34%| 16%| 9% 2%




